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MANAGERIAL FINANCE - MCP 2132
DURATION - 03 HOURS

DATE:15.08.2010 TIME: 1.30 p.m - 4.30 p.m
INSTRUCTIONS: .

Answer any Five (05) questions only.

Non programmable calculators are allowed to use.
Present value tables are attached.

Answer for every question should begin on a new page.

. (a) “No matter how big the profit that a firm has reported what matters is

the generation of cash flows from operations with respect to the
performance”
Critically evaluate the above statement
& (5 Marks)
(b) Following information relates to Gamunu Traders for the year ended 31
March 2010. ‘
(i) Cash Flow statement

Operating Activities Rs. |
Cash collected from Customers 2,600,000%
| Cash Paid to Suppliers ' 2,140,000

 Office Rent Paid _— -120,000
Administration Expenses - -700,000
Cash Flows from Operations | -360,000
Interest Paid -30,000
Net Cash Used in Operating Activities -390,000
Investing activities

Acquisition of Equipment ' ' -100,000
Purchase of Shares ' -100,000
Net cash Applied in Investing Actw1tles -200,000
Financing Activities ‘

Capital introduced - 800,000
Bank loan . ' 240,000
Repayment of bank loan S -50,000
Net Cash generated from financing activities 990,000
Net Increase in cash and cash equivalent during the year 400,000
Cash and cash equivalent at the beginning 0
Cash and cash equivalent as at 31 March 2010 400,000

-l‘



(a)

(b}

Income statement
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Rs Rs

Sales Revenue 4.600,000
Cost of sales 1,990,000

2,610,000
Office rent 60,000
Depreciation 20,000
Other Expenses 700,000
Interest charge 30,000 810,000
Profit for the year 1,800,000

(ii) Balance sheet as at 31t March 2010 :

Non Current Assets Rs Rs
Equipment 80,000
Investment 100,000 180,000
Current Assets
Inventory 400,000
Debtors 2,000,000
Prepaid Rent 60,000
Cash 400,000 | 2,860,000
Total Assets ‘ 3,040,000
Equity and Liabilities
Capital 800,000
Profit for the year 1,800,000 | 2,600,000
Bank Loan 190,000
Creditors : 250,000 440,000
Total Liabilities and Equity 3,040,000

Required

1. Reconciliation of net cash flows from operating activities with the

profit for the year ended 315t March

2. Comment on the cash flow adequacy and cash flow efficiency of

Gamunu Traders

(15 Marks )

{Total 20 Marks )

Newly recruited finance manager of a firm argues that the borrowing as
much as possible is the best strategy as it would increase the
shareholders value. Comment on the finance manager’s view in relation

to financing and profitability of a firm.

The following information relates to DAD Plec.

'2

(5 Marks )



(i) The balance sheets for two years

00038

Rs Rs

DAD Ple 2010 2009
Property Plant and Equipment 5,000 4,500
Investment 2,000 2,100
Current Assets 1,000 400
Total assets 8,000 7,000
| Stated Capital 8,000 5,000
Reserves -2,500 -2,200
Loans 1,000 3,400
Current Liabilities 1,500 800
Equity and total liabilities 8,000 7,000

Required

1. Calculate the gearing position of the company for two years
2. Comment on the management decision of raising more equity and
repaying a substantial amount of debt during the year 2010

(15 Marks )
(Total 20 Marks )

(a) Explain the use of Trend analysis and Common size financial statements in
relation to financial statement analysis

(5 Marks )
(b) Selected information of a firm for three years is given below

2010 2009 | - 2008
Basic earnings per share (Rs.} 12 10 11
Interest cover (no. of times) 15 10 _ 7
Net assets per share (Rs.) 80 70 55
Dividend payout Ratio (%) 30 25 29
Current Ratio 2.1 2 1.9
Market price per share RS 150 70 120
Revenue Rs millions 50,000 40,000 42,000
Finance Expenses Rs millions 1,500 2,000 1,800
Profit Before Tax Rs millions 7,000 6,500 6,800
Profit for the year Rs millions 6,800 6,000 5,000
Total Assets Rs millions 100,000 390,000 70,000
Equity Rs millions 56,000 50,000 48,000
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Required

1. Analysis on the profitability of the company by referring to the proﬁt margm
and efficiency of asset utilization that the firm maintains

2. Possible reasons for the difference between the market price of a share and the
value of net assets per share

3. Do you think that lenders of this company are happy with the current
performance or not. Give reasons

4, Comment of the performance of the company from shareholders point of view

5. Comment on the liquidity position of the firm over three years.

) (15 Marks )
- (Total 20 Marks )

Pizza Booth produces and sells one type of pizza which is a specialty product of
the chef Antonio De Sicca. Revenue and cost information related to this hLttle
Pizza Booth, opened recently, is as follows:

Rs.
Unit selling price 400
Unit variable cost (ingredients and 150
wrapper)
Monthly fixed costs: ‘
Wages for employees 240,000
Rent 120,000
Utilities (electricity, telephone etc.) 64,000
Deépreciation of equipment 24,000
Advertising , 150,000
Repairs and maintenance 24,000
Insurance 14,000
Miscellaneous 20,000
Total 656,000

As the recently appointed business analyst you are required to carryout a
sensitivity analysis on the following lines. Consider each scenario afresh
(separately).

(i) Compute the monthiy breakeven point in (a} pizzas (b) rupees.

(ii) Re-compute the break even point {pizzas) if fixed costs increase by Rs.
25,000.

(iiif How many pizzas should be sold in order to earn a monthly profit of Rs.
50,0007

(iv) Owing to rigorous competmon the monthly sales are likely to drop to

2,000 pizzas. Compute the Profit/ Loss that will be earned / incurred at
this sales level.

"
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(v) The manager of a local bank wishes the booth to purchase 100 pizzas at

a special price of Rs. 250 (for the purpose of a trip). Another near by

pastry shop has already expressed its willingness to accept the order at

Rs. 250 per pizza. The additional cost (other than the cost of ingredients

and wrapper) amounts to Rs. 4,000 approximately.

(a)  Should the special order be accepted? Why?

(b) How low a price could be charged in order to break-even from the
special order?

(c) Could you furnish a strong reason as to why the special order
should not be accepted?

(vi) Competition in the area has intensified and monthly sales volume
dropped to.1,500 pizzas. A temporary closure is proposed. If this is
implemented the monthly cost saving will be Rs. 250,000. Should the
proposal be accepted? Justify your answer.

(vij Comment on the validity of the assumptions underlying the analysis
{CVP) carried out so far by you.
(Total 20 Marks )

Consider the following decision making situations carefully and give your
responses to any four of them. Justify your answers using appropriate cost
concepts, relevant caleulations and clear explanations.

(a) Imagine a ship repair yard, Ship Land, which is short of work with many
workers idle owing to current recessionary conditions. However, the
workers receive a gnaranteed wage per month.

Tenders are invited for an immediate repair to a damaged ship which will
take a few weeks to complete. There is rumor that another firm is
tendering on the basis of direct material and direct labor plus one half of
the normal fixed overhead charge. Should the Ship Land still compete?

(b) Upul Warusawaithana, contemplating to buy a block of land for
Rs. 5,000,000, paid a non-refundable deposit of Rs. 50,000. Now, he
finds a better block of land which he can purchase for Rs. 4,500,000.
The payment of the deposit encourages him to buy the first block of land.
Should he proceed with his thought?

(c) Assume that a firm is offered a contract for Rs. 3,000,000 to construct
air-conditioning ducts in a new office building. The labor and other
operating expenses for the job are estimated to be Rs. 2,100,000. The
firm has all the materials required to complete the work in its inventory.
Assume that the material (primarily sheet metal) originally cost the firm
Rs. 1,200,000. However, the price declines of this particular type of sheet
metal have resulted in a current market price of Rs. 750,000. The
market for sheet metal is unlikely to change in the near future, so no
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gains are expected from holding the material in inventory. Should the
firm accept the contract?

{(d) Consider the costs associated with the purchase and operation of a café
selling Chinese food. The business can be bought for Rs. 1,750,000 and
+ an additional Rs. 250,000 is required for operating expenses.

Sarath has personal savings of Rs. 2,000,000 that he can invest in such
an enterprise. Nimal another possible contender must borrow the entire
Rs. 2,000,000 from a bank. Both seems to be equally competent to
manage it.

Does the fact that Nimal has to pay interest on the borrowings from the
bank make his costs of operating greater than that of Sarath’s?

(e) Blossomfiled Brewers produce Real Ale beer made to conform to home-
made recipes, and all using basic mash produced at the central plant.
Several recipes are available all of which are considered of equal quality.
The beer does not transport well, and hence , the brewery operates a
number of local plants allowing local management to select the recipe,
most appropriate to their own particular circumstances. One location, on
a holiday island is considering its cost and revenue estimates of three
recipes as given below:

Recipe A B C
Selling price (Rs. Per can) 2,500 2,500 2,500
Basic mash @Rs. 50 per 500 730 1,000
1b
Labour®@ Rs20 per hr. 1,200 . 800 400
Other variable costs 450 350 350

Fixed costs per month amount to Rs. 1,000,000.

" Studies indicate that market demand is sufficient for the company to sell all the
ale that they can produce, the only limitation being the availability of basic
mash. Local harbor regnlations restrict the amount of basic mash shipped to
the island to 60,000 lbs per month. ’

What is the most profitable option and, the total profit that they could earn?

(Total 20 Marks )
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6. A W Investor wishes to invest in one of the following projects.
Year Project A (Rs. Project B (Rs.

‘000s) ‘000s)

0 -200,000 -200,000
1 20,000 - 60,000
. 2 40,000 60,000
' 3 60,000 60,000
4 60,000 60,000
5 60,000 40,000
6 68,000 20,000

Required:
“ (a) Can the two projects be compared directly? Give reasons.

(b) Compute the Payback Period, Net Present Value (NPV) and the
Internal Rate of Return (IRR) for the two projects. Assume the cost of
capital to be 12%.

(€ Under what circumstances will you select a project based on the
Payback Period? Under this method what will your choice be?

(d) Under what circumstances will you select a project based on the
NPV? Under this method what will your choeice be?

(e) What is the significance of IRR? Interpret in relation to your

computed values.
(Total 20 Marks }

-Copyrights Reserved-
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